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Read the given passage and answer the following questions.

The need for digital literacy 1n a country as populous and diverse as India is critical
If 1t 15 used for education, healthcare, citizen services, financial services or any other basic
need, technology and connectivity, it can make a huge difference to the socio-economic
levels of a community, and ultimately to the country, since true progress comes from
inclusive growth.  Digital Iiteracy plays a vital role m e-services like e-commerce,
e-governance, e-panchayat, e-learning etc. In current scenarto, technology is becoming an
mevitable part of our daly life be it using mobile phones, drawing cash from ATM machines,
bookimg a railway ticket etc. Hence, there 15 a need that every mdividual m the country must
be equipped with necessary skills so as to use the technology with responsibility. The
definition of who 15 considered a literate or educated has evolved over time and 1t is not
complete without digital literacy. Digital literacy according to the popular definition 15 the
ability to locate, organize, understand, evaluate and create mformation usmg digital
technology.

Sub questions

Question Number : 1 Question Id : 9168514695 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What is meant by digital literacy?

Options :

Digital literacy in a country as populous and diverse as India
1.

Digital literacy 1s the ability to locate, organize understand, evaluate and create

information using digital technology.
2.

Digital literacy plays a vital role m e-learning
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None

Question Number : 2 Question Id : 9168514696 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Give examples for e — services

Options :

¢ — ConMunerce

¢ — Z0VaImance

¢ — panchayat

all
4,

Question Number : 3 Question Id : 9168514697 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What 1s the meaning of the word “ievitable™?

Options :

uncertain

uncomfortable
2.

avoidable
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unavoidable
4.

Question Number : 4 Question Id : 9168514698 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which one of the following is not true?

Options :

More than half of India’s population live in cities

More than half of India’s population in rural areas and villages

Most of the Indian villages are remote and isolated

None

Question Number : 5 Question Id : 9168514699 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
What 1s becoming an inevitable part of our daily life

Options :

education

literacy
2.
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technology
3.

soclo-economic levels

Sub-Section Number : 2
Sub-Section Id : 916851209
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 9168514700 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Identify the parts of speech of the underlined word.
If you study hard. you will get good rank.

Options :

Pronoun

Adjective

Conjunction

Adverb
4.

Question Number : 7 Question Id : 9168514701 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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sun 18 very bright today. (Fill in the blank with the suitable article)

Options :

An
1.

A
The
3.

No article
4.

Question Number : 8 Question Id : 9168514702 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Choose the correct question tag to the sentence.
Many people attended the meeting.

Options :

Didn’t they?
1.

, Do they ?

Weren’t they
3.

Did they?
4.
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Question Number : 9 Question Id : 9168514703 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
What do we call the greeting part in a letter?

Options :

Subscription

, Body

Salutation

A Superscription

Question Number : 10 Question Id : 9168514704 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Identify the figure of speech of the underlined.
Life is as tedious as a twice-told tale.

Options :
Metaphor
1.
Simile
2.
; Hyperbole
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Personification

Question Number : 11 Question Id : 9168514705 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Choose the rightly spelt word.

Options :

Guarentee

Noticeable

Abundent

(Genarous

Question Number : 12 Question Id : 9168514706 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fill in the blank with the correct conjunction.
I ran fast missed the train.

Options :

because

that
2.
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but

for

Question Number : 13 Question Id : 9168514707 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fill m the blank with suitable preposition.
The schools have been closed last Friday.

Options :

among

for
sice

from
4.

Question Number : 14 Question Id : 9168514708 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The synonym of ‘Metamorphosis’ 1s

Options :

1 Great shape

AP EDCET 2020



AP EDCET 2020

Transformation
Superior organization

4 Irregular

Question Number : 15 Question Id : 9168514709 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Find the meaning of the underlined word.
He was profusely talented.

Options :

abundantly

dearth

limitation

enough
4, 5

Question Number : 16 Question Id : 9168514710 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fill in the blank with the right Verb.
I letters since 9°° clock in the morning.
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Options :
has been writing

1.

am writing
2.

written

have been writing
4.

Question Number : 17 Question Id : 9168514711 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Complete the Idiomatic expression.
He slept like a

Options :

wood

stone

mole
4.

Question Number : 18 Question Id : 9168514712 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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‘Fear of open spaces’ is called

Options :

Claustrophobia

Necrophobia

Agoraphobia

Acrophobia

Question Number : 19 Question Id : 9168514713 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
He said to her, “T bought a house™.

The indirect form of the sentence is:
He told her that

Options :

1 she bought a house

, he was bought a house

; he had bought a house
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he has bought a house

Question Number : 20 Question Id : 9168514714 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The antonym of the word lend 1s
Options :

give
1.

remrn

extend

borrow
4.

Question Number : 21 Question Id : 9168514715 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The active voice form of “All the food has been eaten by them™ is

Options :

They have eaten all the food

They ate all the food
2.
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They had eaten all the food
3.

. We ate all the food

Question Number : 22 Question Id : 9168514716 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A stone that goes on rolling 10 Mass.

Options :

gets
1.

accumulates
3. collects

gathers

4.

Question Number : 23 Question Id : 9168514717 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

[Leave letter1s a/ an

Options :

official letter
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business letters

personal letter

none
4.

Question Number : 24 Question Id : 9168514718 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Apostrophe 1s not used

Options:

: n a contraction to show where letters have been omitted or left out

when you leave the first two numbers of a year
2.

to indicate omitted words in a quotation
3.

for a one syllable smgular noun that ends in possessive
4.

Question Number : 25 Question Id : 9168514719 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Soft minded individuals are to embrace all kinds of superstitions.

Options :
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eager

pronc

disposed
3.

reluctant

4,

General Knowledge
Section Id : 916851166
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15
Section Marks : 15
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 916851210
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 9168514720 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
What is the special call centre number for complaints against corruption?

0208 B HohO (585 576 Towd Soath?
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Options :

14140
4400

14444

14499

Question Number : 27 Question Id : 9168514721 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Who was the Prime Mimister of Britamn at the time of India’s independence?
030 JSodfo Tobdd 200008 PR PEFIA0Y A9

Options :

Winston Churchaill

| DD RO B0S

Clement Attlee

, 500085 e9e3

Lord Mountbatten

e_:ué A3°08) et
3.
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Baldwin

E..‘J"’§55

Question Number : 28 Question Id : 9168514722 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Sundarbans m India 1s a fine example of which among the following kind of
Forests?

PEE505"D 1WotsEyS STFen $0 D 50N VEHVD $0d) GEFTER!

Options :

Dry Forests
TS e9ciad)en

Deciduous Forests
@ngej‘} R9C4 RN

Tidal Forests
€3¢85 evctaHew

Wet Deciduous Forests
Cx o e_egjoﬁe_‘:‘a RIS

Question Number : 29 Question Id : 9168514723 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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MNREGA 1s implemented by which of the following?
2063°J¢5° MNREGA & 095508000368

Options :

Gram Panchayat
TPed) 200TPOG

District Collector

2er 356
2. = e
Minister for Education
QT F°A° 008
3.
Governor
ﬁ&bcﬁ‘lé
4.

Question Number : 30 Question Id : 9168514724 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Fixation of nitrogen 1n the soil
2)ES” DGR FOO BOO

Options :

Virus
. 26D
2.
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Sponges
Q02 EeD

Bacteria

e S B03®
3, =

Protozoa

eSS e

4

Question Number : 31 Question Id : 9168514725 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which one of the following enzymes 1s found in human saliva?
& $00 JoFVVS DO APHD TR VW)

Options:
Trypsin
B\

Pepsin

DDYS

2

Rennin

; OO
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Ptyalin

N L0000

Question Number : 32 Question Id : 9168514726 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of these istruments 1s used for testing the purity of nulk?
S0HaedS @ 0OST) O RS\ BR DO et S &DArATH?

Options :
Hydrometer

E L6

Lactometer

wgbamé

Galvanometer

nﬁwsg 066

Ammeter

@5)3&&35

Question Number : 33 Question Id : 9168514727 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which element is used in the making of the “Solar Panels™?
A6 HDOSTL S$ardS” DJWIAOS TOEHD AO?

Options :

Sn
1.

S1
2.

Cs

3.

Pb
4.

Question Number : 34 Question Id : 9168514728 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

What 1s the name of the indigenously developed drone which DRDO has
provided to the Indian Army?
w68 pRjo §6% DRDOS ddatoomr edy® 328 £S 96 38’

Options :

Arjun

290~
1. &

Bharat

POD
2.
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Dhruv

Gy

Agni

e9fy
4. A}

Question Number : 35 Question Id : 9168514729 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The book named ‘Three Decades in Parliament’ 1s a collection of the speeches
of
A G8EY a0 g0t & QYSo A0 YorPY ArFGe?

Options :

Somnath Chatterjee

1 DorH ujmg
L.K.Advani
e5.8. @c:sﬁf).ﬁ)

2.

Sonia Gandlu
Do mrod

A.B.Vajpayee
2).8). ST°2ad00
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Question Number : 36 Question Id : 9168514730 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
India celebrates February 28 every year as ‘National Science Day’ because of

@ 6dGE0 DB 283 ‘Ao ards AJdyHo' P AGLPoLL S°6k0

Options :

Raman Effect
TP DPd0

Chandrasekhar Limait
5083200 05

Ramanujan Number
TPAIPRV2R DO

Aryabhatta Zero
Eﬂdﬁeﬁ%&} Jn:l.)ﬂ”;l

Question Number : 37 Question Id : 9168514731 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

COVID-19 1s a disease caused by
COVID-19 @5@ icplef=te

Options :

SARS-CoV-2
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SARS-CoV
2.

MERS-CoV

HiN;
4.

Question Number : 38 Question Id : 9168514732 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Wimbledon-2019 Women’s Champion
Do2VVR-2019 doirve J&Es

Options:

Serena Williams
2B DYooy

Simona Halep
DTS TTH

Petra Kvitova

DEr S’

Venus Williams

DO DYDY
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Question Number : 39 Question Id : 9168514733 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

‘Film and Television Institute of India’ 1s located at
‘000 0k B8O fai)?gm?ges £96) ‘ao&o‘.ir’umé&m €Y 0.

Options :

Mumbai
s 0LIAND

Delhi
&8

Kolkata
Ee5<et

Pune
FO)

Question Number : 40 Question Id : 9168514734 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following companies manufactured the chetak Helicopter?
368 2r0570 NGNS S0

Options :

1.
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Pakistan Aeronautical Limited

FEFS 8TBES OBE

Kajakistan aeronautical Limited

h.?f.uk_'-" {\E.a -’-\65 &\4@5 @5:0&,5

Hindustan Aeronautical Limited

2r0HARS ABBES DBE

3.

Kilikistan Aeronautical Limited

8D8FS OB TEES OMBE
4.

Teaching Aptitude

Section Id : 916851167
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 916851211
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9168514735 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following is the main objective of teaching?

BobTHS® D (s S @%@?

Options:
To develop thinking power of students

Dergioed” @& Row 8V DosroboBnEo
1,

To give information related to the syllabus

o
g

e [HeeerdBD Yoobod) ddroedo askto
o L %)
2.

Prepare the students for examination

oD DO Ko BedSo
. 50 &L oS

3

Help the students to get jobs

&Dmﬂé@w ﬁﬁ%mw PoSEeR8 BEESHHESE0
4.

Question Number : 42 Question Id : 9168514736 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If a student is not able to answer in your class then you will

S SEKEE° 2.8 Dl o 2RV > ver T

Options :

ask another student to answer

HO°8 g8 QDATPTPH0 0ihEedd
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ask easier question

008DS (D8 tdrveed

2.
punish him
@D %%@_2&53
3.
ask him to sit down
@& éﬁ@&@oéﬂﬁa
4.

Question Number : 43 Question Id : 9168514737 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following skills are needed for present day teacher to adjust
effectively with the classroom teaching?

618 KOE° RegoB0m @D © D808 (8 eareroiuld & (Bod

\/

Jeen EValele

a. Knowledge of technology

oS8 HOepso
»-4'

b. Use of technology in teaching — learning
&5 f,ﬂ“"‘“’*oo POSH 6@_; N0 GI@rRA0NK0

¢. Knowledge about students needs
dEded edioem (PO &ho
dQ [ o

d. Content mastery

Q0D %o&ééo

Options :
a& c

a&d

b,e& d

b &d

Question Number : 44 Question Id : 9168514738 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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When was the National Adult Education Programme (NAEP) launched ?
PHH STras SWFE’E'@@O (NAEP) a3pid @odoiadon?

Options :

1964

1972
1978

1986

Question Number : 45 Question Id : 9168514739 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The main purpose of “Parent - Teacher - Association (PTA)” n any school
15 to

D RO w0085 - 855 - eddis (PTA) ANy eéééo

Options :
Keep students in check / control

Demgood 8 | Qoo eohes
1.
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Collect additional funds for remedial teaching
DS TS8R0 083D APe VE00HE

Involve parents for improvement of school teaching

FdTo SGS 1dHIHSS LD EPSothe (Hhcdho
3.

Understanding of the problems faced by school

TS ﬁcﬁ:&‘;oéw%‘ ﬁé}}ﬁéﬂﬁ} @igo 05508
4.

Question Number : 46 Question Id : 9168514740 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

At primary level, it is better to teach in mother language. Because it.

(B8 ﬁgowé*:, &rd) st S005%0 0. Jothod 3H
Options :

develops self confidence in children

%Jgg@é‘s @e‘% 8)%@5%?\)& 2000000

1.

makes learning easy
@35535@?33& Q0083880 Zﬁ@o&b

2.

1s helpful in intellectual development

colA) Do BB DNLEH0H

3.
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help children to learn in a natural atmosphere.
Do) Jire TEed8n0s° 363&%%363& eE D00

Question Number : 47 Question Id : 9168514741 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

To prepare students as good citizen, a teacher should
3&5@@@ $i08) FBherrr '%J@QW% 8.8 ﬁ%@éd}:{fc 3o Jord

Options :

maintain strict discipline

EBIN (B085ea:D OO

provide good leadership
00D Teh8ER) ©0H0TD

be good orator
00 DB &oE°d

have good general knowledge
00D FEedes eP0 DA Sowed
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Question Number : 48 Question Id : 9168514742 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
A good supervisor of an educational institution expects
2.8 O oy Gos) @rriyBs SEEH% SHHIb
Options :
name and fame

Fed (Daregoen

financial benefit
e88 (HBresdo
)

2
quality of education
TPEAgRR S

3,
more pass percentage
0O &éﬁéé BeH0

4, :

Question Number : 49 Question Id : 9168514743 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The purpose of assignments in the textbook is,
FEDRE0E° Y DTraSIne B 6GE0 Ho
o T i ]

Options:

1.
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to act as a guidance for the unit tests

G5 HOZeB Syelalelicotila HATHEo

to provide practice to the learner

@grgdBls TS0 @ododio

2.

to help learner revise and review chapter
@Qﬁécﬁﬁf\)& 80A $08D0HtE Hda%w (‘i’jﬁbioﬁ)éaéa @aréeﬁéaf&%

Rerodatio

to aid teachers

GREICne JFPchHEEo

4,

Question Number : 50 Question Id : 9168514744 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Moral values can be effectively inculcate among the students, when the
teacher

365 et st SigSodorr L0froBoimRE eartrditd BapSeRe
Options :

frequently talks about values

S Denden HOod) SeEritio
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himself practices them

‘écgcﬁ:orw 70D e9900DG0

2.

tells stories of great persons

3 58 Bneon IYKo
3.

talks about gods and goddesses

é@@a& 20805 BB 900D Srériiio
4.

Mathematics

Section Id : 916851168
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 916851212
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9168514745 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Let f:4— B and g: A — B be two functions. Then f=g if

f:4—> B $Bcn 8: 4 B 3ok Hhoroond f=¢ sareod
Options :

f(a)=g(a) forall ae A

08 ac A 3= f(a) = g(a) >>a®

f(a) = g(a) for some a A

D& 28 acA % f(a) = g(a) soa@®

f(a) £g(a)forallas A
98 acA 5= f(a) zg(a) o=

f(a) = g(a) for some ac A
D& 28 acAd %r f(a) £g(a) >d

Question Number : 52 Question Id : 9168514746 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let A be a set with n elements (n>1). Then with respect to the relation
“Is equal to” on A, the number of equivalence classes is

n(>1) Sroseen &s&é& a8 A wofomro. AR “Is equal to” o3 Honodo
c@lc?& A% ey S8K&w Somy
Options :

1.
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less than n

n ?:‘:'mg éfo;&ﬁ

oreater than n

n 33 ¥
3 cA G

Question Number : 53 Question Id : 9168514747 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let A be a set with k elements. Then the number of relations that can

be defined on A is
k Sresrens) S8 Awvons, A @6;530&?‘?@ NoTnlelmd STl vy
Options:

. k
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Question Number : 54 Question Id : 9168514748 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The additive inverse of the element 0 in the group of all integers with
respect to addition is

Koo’ %%& @ﬂqo:w&‘&& SRt Siredo 0 o':b:-ﬁ;-_ woeR 98°H0
Options:

o

Question Number : 55 Question Id : 9168514749 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

With respect to multiplication, the identity element in the group

G= {.\';’,1? =2"Fand a,be :} 13

ko’ Gir, G:{.r;".r:fZ”.Bb $06080 abel} €3 SErrodt S
Saredo
Options :

olqt
1. )
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-2

_1 |3_1

.;}GI 30

9 ol

Question Number : 56 Question Id : 9168514750 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let (G,s) be a non-abelian group. Then for any a,beG, (b .a?)? =

2% DDFcho =R Jorro (G,e) waws, (98 a,beC &» (blat)? =

Question Number : 57 Question Id : 9168514751 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The inverse of the element — in the group of fourth roots of unity with
respect to multiplication 1s

K0 cﬁﬁa 5880 (1) o), C‘éeﬁﬁé Srere SSrrod” Sredo ‘0 %
A6°%0.

Options :

1
1.

Question Number : 58 Question Id : 9168514752 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If the operation * 1s defined on the set of all integers Z as g *b=q + b +1

7
id

for all ¢.beZ, then the identity element in the group (Z, ) is

28 aoff) S/ &, $6 abeZ %

a*b=a+b+1 ™ A ?_\.n S (L, %) 6° S8 dwredo

Options :
1

2. 1

3.
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Question Number : 59 Question Id : 9168514753 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A necessary and sufficient condition for a group G to become abelian is,

foranya, b € G

2.8 Juraro G ARNKhe sEmAl edd Kok Aohdo (58 ¢, b € G &

o B

Options :
1 (@ab)* = a*b?

{abir=ab
{a b =ha
3.
(a b)? = b*a®
4,

Question Number : 60 Question Id : 9168514754 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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a b
The identity element in the group G = { { b ] a, b are real numbers
-b a

not both are zeros}, with respect to matrix multiplication is
R ey | L] PReee 3

e ko Qar G=- a, b e P3N Sogren, Bobr Hamen
=P} 03 SHrrod® $&D dwroto.

Options :

3 4
HH

11]

Question Number : 61 Question Id : 9168514755 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Every group of even order must have an element a # ¢ satisfying

i~

2B ogy EEKBP Ko (B8 SSriro8” (Bod @ dnotd Sod)y 963 Suredo
al#e) 5&;}eﬁom £08008

Options :

Question Number : 62 Question Id : 9168514756 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The order of the element —i in the group G={1, -1, 1, -1 } of fourth roots
of 1 with respect to multiplication is
Keado cﬁv\%g 1 @) S8 Swrosre S0 G =11, -1, 1, -1} &°
drodo -1 @o¥) $618

Options :

1
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Question Number : 63 Question Id : 9168514757 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let G be an abelian group and ¢ b =G such that o(a) = m, o(b)=n and
(m,n) =1. Then o(ab) =
o(a) =m, o(b)=n HBE® (m,n)=1 @Cﬂ)&&@m a,ben 2.8 A SHrsFo

G 6°9 Sroooma, ofab) =

Options :

m

i)

mn

Question Number : 64 Question Id : 9168514758 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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In a group G, if ¢,.x G, then o(x ax™) =

o8 d&uraco GEQ a,x en Soroscoons o(x ax™t) =

Options :

o(a?)

Question Number : 65 Question Id : 9168514759 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let a be an element of a group G such that o(a) =n. If n/m then a® =

2.8 S0 G & o(a) = n@cﬁaaé.:é;g ‘A o8 Sreko $HB0% n/m vone

at=
Options :

a
1.

e (The identity element in 3)
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Question Number : 66 Question Id : 9168514760 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let G be a group of order 6 and H be a subgroup of order 3. Then the
number of distinct right cosets of Hin G 1s

S8K8 61F Ko 0.8 $mFo (& adsswmiro H @n%) $858 300w, GE°
H Go%), %) D& S5 3o doay

Options :

g, 28

Question Number : 67 Question Id : 9168514761 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Any non — abelian group whose every subgroup is normal, 1s called
.8 AABchdn 0 JhriroS® (D8 addrro o vdeoon &338%rro
wod G 9 & Qo woird.

Options:

1.
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simple group
o8 QY S&rdro

Hamilton group

, _?.F&‘DES S0

cyelie group
o K KB L A s
3 &8 BBk JXurdro

Dedekind group
G&Zo& J&wrdro

Question Number : 68 Question Id : 9168514762 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Options :

o(G) —o(H)

o((3)
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o(H)
o((7)
o(H)

4,

Question Number : 69 Question Id : 9168514763 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Any isomorphism from a group into itself is called
2.8 DBr0 $08 OB SHEFEIR Ko Septrlss o7 208
Options:

epimorphism

SRR DBETEHS

monomorphism

- s o
@d;ﬁ HRoBTS5S

endomorphism

é;cﬁ:o S8 He8

automorphism

ﬁ;dﬂ:;o eﬁ;@;&waﬁé

Question Number : 70 Question Id : 9168514764 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The smallest non-abelian group is of order
©8 07 DI0Do =P Jrro Tws) S8KS
Options :

), =

]

Question Number : 71 Question Id : 9168514765 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If S and T are two subspaces of a vector space V(F), then L(SUT) =
2.8 “BFosoego V(F) & 8, T e earoseroand, L(SUT) =

Options :

L(SNT)

L@S)+L(T)
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Question Number : 72 Question Id : 9168514766 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If a subset S of a vector space V(F) contains the zero vector, then S is
28 Jowodoego V(F) @o¥) o ad & S &° LAl 608, ©
&Rane Y

Options :

linearly dependent

o3 ower ©ldrsolE Jné
1. >

linearly independent

.8 e Sogol@ SEn&

a basis for V
V 8 2.8 esgrdo

T

a generating set for V
V& 28 2358 J8né
4,

Question Number : 73 Question Id : 9168514767 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The dimension of the vector space C° over the field R is

-

Sgo B p Jowodordo € G DBRr0

!

Options:
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1. 3
infinite
©S080

2.

2

3,

4. 6

Question Number : 74 Question Id : 9168514768 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The dimension of the vector space of m x n matrices over the field 2 is
ggo B 2 m x ndr@leo Jhodtrro Gnd) 0o

Options :

m-+n

L

|3
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Question Number : 75 Question Id : 9168514769 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

g 1
The inverse of the matrix A = [1 D} 1s

A ;
Soo(@ A:L 0} % 28850

Options :

W

Question Number : 76 Question Id : 9168514770 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If Ais a4x4 matrix and det (A) =5, then det (2A) =
Acd 4x4 5% 5050 det (A) =5 wond det (2A) =

Options :
AP EDCET 2020
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10

40

80

Question Number : 77 Question Id : 9168514771 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If V is a finite dimensional vector space, then any two basis of V have
Vad 50808 $568rn SHoso¥o vona V&° d Bok erros 3w

Options:

the same finite number of elements

Soroste ﬁca:g SPvvinle)

different number of elements
~% A ey
SoresEe NJel:vly wq?@o\_ﬂ

infinite number of elements

Sroste Jogy wdoso

same elements

2.0 QTPeSRenoLToN

AP EDCET 2020



AP EDCET 2020

Question Number : 78 Question Id : 9168514772 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let V and W be two vector spaces over the same field F and let T be a
linear transformation from Vinto W. Then T ({0}) =

"

2830 F 2 V,Wen Both SbFodorere $080 Viod W Tef oz

bl

56588 eond T ({0}) €36

Options :
range of T
T G0 o2
L= e

null space of T
T &8 Sraodoego

empty set
o8 Edy S&

a subspace of W

W &° o ¥ asrodoe€o

Question Number : 79 Question Id : 9168514773 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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3 1 -1
Let A=|2 2 -1| be the real (3x 3) matrix. Then the characteristic
22 0

roots of A are

3 1 -1
A=|2 2 -1]|2% (3x3) 7 Soamsred oond A@n¥) il Sreren,
2 2 0
Options :
1. 1,3
I, &,
2.
1.2
3.
2
4.

Question Number : 80 Question Id : 9168514774 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let T:R* > R* defined by T (x,x,) =(x,x,). Then the null space of
Tis

T:RoR & T,x) =@,x)m 3807 T @%) &raodoréo

2271

Options :

1.
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10, 0);
, {(1,0), (O, 1)

(1, 1);

{(0, 1)}

Question Number : 81 Question Id : 9168514775 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let A be an nyn matrix over the field F. Then the degree of the
characteristic polynomial of A 15

380 Fp Ack nyn Se(85 oowd A Gng) oFhE acdd @of) SYKE
Options :

less than n
n 3o 8505
[= (&g

oreater than n

n ¥ 0¥nd
oA [
n

2
H
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Question Number : 82 Question Id : 9168514776 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let F be a field and let T be an operator on F* defined by
T(a,a)=(a,0). Thenthe matrixof T in the standard ordered basis of

Fls
F&-é'sqtéo‘ el S H0 A9 T, T(a,a)=(a,0)m &)5“81

==

P2 @08) (9 sgptio e T @ng) Sm(@8

Options :

4

oo
il

Question Number : 83 Question Id : 9168514777 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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If Wis an m — dimensional subspace of an n-dimensional vector space
V(F), then the dimension of the quotient space V/W is

n 565 $HTooEo VE Wed m$ 908rs sarodtto sond SR
wodoego VIW Gws) H088reso

W

Options :

m—n
1.

H—m
nrmn

n/m

Question Number : 84 Question Id : 9168514778 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let T, and T, be two linear transformations on the vector space R* as
follows:

T (xy, x5) = (9, %7) and Ty(xy, x5) =(xy, 0). Then

J00dTH0 R® D emer 3036800 T, T.of T (x;, %o) = (¥, %;) 2O
o . 1 2 1712 2:"1

Ty, %) = (x;, 0) T DD, ©IPo

Options :

L =

%1
1.
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| e
TE 4 T

3.

4 TE leTl

Question Number : 85 Question Id : 9168514779 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let x and v be two vectors in an inner product space. Then

et ol -l =

2.8 @oéggoémﬁoﬁ x, y 0 Both S6deond |x+y]+|x-y|=

Options :

" + ol
1.

2

<[ =l
2.

2 ]+ 2o

o a
4_¢7‘ 2

s

2|

% y

Question Number : 86 Question Id : 9168514780 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In an inner product space, ‘( g 1)‘ < HtH HmH is called

2.8 @oégﬁoémﬁo@‘? (LJ-‘]‘ _H’aH HEH 2 & Do ©otrd

Options :

Cauchy-Schwarz inequality

5% -2y 8 osErss

parallelegram law

polvsitelyte] ﬁeﬁoégja aﬁacﬁso

polarization identity
S\ K i
Qﬂ.auéﬁ Enmé%m

triangle inequality

|850er @355S

Question Number : 87 Question Id : 9168514781 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let V be an inner product space and M be a subspace of V. Then M* =
Vel @oégsg;oéoﬂ@’o. V& Mok aarodorgo wond M* =

Options:
14 L

1. M
M

2.
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vV

Question Number : 88 Question Id : 9168514782 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
If Mand N are two subspaces of a finite dimensional inner product space,
then (M +N) =
o8 0 58%re @oéQ%oémﬁo % M. N e 30& &arosoeens,
(M+N)* =

Options :

M*+ N*
(MNN)*
M*NN*

M*UN*

Question Number : 89 Question Id : 9168514783 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The rank of n x n identity matrix is
2.8 nxn SERH0 $e8E Bk 558
o) G

Options:

1. N

' el |

n—1

Question Number : 90 Question Id : 9168514784 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The characteristic polynomial of the matrix

5 -6 -6
A=1—=1T 4 2}
15
| 3 6 —4
5 6 -6
Se@8 A=|-1 4 2| Go¥) erFE 5odd
3 -6 —4

Options:

(x— 1) (x—2)?
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(x—2){(x— 1)
(1 +:x) (x=—2)

(2 +x) (x=1)

Question Number : 91 Question Id : 9168514785 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If x is a nilpotent element in a ring, then 1 — x is
2.8 $S0chos xa¥ FBEHES Sredo vond (1 —x) 938 o8

Options :

nilpotent

$aée% Swreo
1.

unit

o= QeS

zero divisor
ErL; grasfo

1identity element

ééﬁj&} SoreXo
4.
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Question Number : 92 Question Id : 9168514786 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The number of units 1n the ring (Z,,+,,x,) of all residue classes of

integers modulo 13 1s

-

13 arai¥or o rorosee @:0de JTPe Jedho(Z ) 6% AreREY

“130 13’ 13

20

[

Options :

.,

12

13

Question Number : 93 Question Id : 9168514787 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the ring (Z,+,9) of all integers, the number of non-zero zero
divisors is
"‘"D‘“D""'E} Hocho (Z,+,9) &9 éﬂj Gitel éﬂé o JRpNel. v

Options :

1, i
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infinite

®S080
4.

Question Number : 94 Question Id : 9168514788 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Every nilpotent element in a ring R is
o8 S0cHod ) (B8 858 Sweeo

Options:
unit
o¥ Qe

zero divisor
o ¥ «—?”0%5 olClete

2.
unit and zero divisor
a8 CrES SO a8 EPSg graso
3.
1dentity element
5 v
N S&D Swreo

Question Number : 95 Question Id : 9168514789 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Let Z be the ring of integers and Q be the ring of rational numbers.

Then
oY Hocko L %80k 58S Sowry Suaho QNS
Options :

Z is a subring of Q
Q8 Z 2.8 &b Seddo

Z 1s a prime ideal of Q
QEPZ 2.8 1SS ©S5B)0

2
7 is a maximal ideal of Q
Q& Z o8 odisd siddo
3. N
Z 1is an ideal of Q
QS Z a8 esi¥o
4. e

Question Number : 96 Question Id : 9168514790 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following statement 1s true.
Bod TBS° 3 (5580 H&?

Options :
every subring of a ring is an ideal
2.8 Sochod” (38 addocho .8 ed)o
1.
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every ideal of a ring is a subring

, 8 Bochos® (38 esfo af adsecho

every prime ideal is maximal
2.8 Sochod” (58 (HSord eisdio o8 @fZEd «ido
3.

every integral domain is a field

(08 Troeod (30¥0 o8 o

el

Question Number : 97 Question Id : 9168514791 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which of the following statement 1s false.
Bod =&&° ©3& (BDEK0 &?

Options :

every maximal ideal is a prime ideal in a ring
2.8 S00508° 58 ©hZS% wS0 o8 (Hees eito

every field is an integral domain

(58 gl&o a8 roro¥ (a0

every nilpotent element is a zero divisor in a ring
2.8 Sochos® & $8irS Soredo ol el redo

every ring is a local ring

(58 SochHo o8 Q% Seoaho

AP EDCET 2020



AP EDCET 2020

Question Number : 98 Question Id : 9168514792 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The number of prime ideals in the ring (Z,+,e) of all integers which are

not maximal ideals

FTOTO F0ah0 (Z,+,0) & ©fEEDH oo =R [ @CSO?:;@ ogy

Options:

g, O

infinite

Shvelale

Question Number : 99 Question Id : 9168514793 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The number of ideals in a field is
5 g0 sdtme Jogy
L'-'“"'- ! )
Options:

1
1.
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infinite

o800
3,

Question Number : 100 Question Id : 9168514794 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In an integ‘ra] domain R, the ideal (o) is a
2.8 Jrpol (5380 R & (0) ¥

Options :
a maximal ideal

XS @ééﬁ‘:o

a prime ideal

ESlnits @ééﬁ‘:o

not an ideal

(Elale){eR=slnb)
!
not a subring

&a8e000 ==t

Question Number : 101 Question Id : 9168514795 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Let R be a commutative ring with unity. Then every element in R has
2.8 E8)% VirE B Socho vHdomo. v RE (36 Siresd
Options :

at most one inverse
ﬁ&%{:nﬂ 2.8 DER0 S80E0od

at least one inverse

t
X950 2.8 %00 sotnod

at least two inverses
X030 Bod DS SrenodTon

infinite inverses
©308S DS Srrenotron

Question Number : 102 Question Id : 9168514796 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If f1is a constant vector function in the interval Tand @ €1, then f'(a) =
2B woddo [ D fal ?&geﬁ (o $8akw a €l wond f/(a)=

Options :

(4

non-zZero

IrEBo
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ZETO

STR00

]

Question Number : 103 Question Id : 9168514797 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

5o g P _of -of -of
If f=yzt +2x7+xyk, then 1 _\f + 7 Af iy _\f o
X cy oz
Options :
1. 1
2
2.
0
3.
1+ ]+ k
4,

Question Number : 104 Question Id : 9168514798 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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=2

Ty | T
A=
|

If r isa positive vector function and e is a unit vector, then
B or
BERa050 B0 e ¥ ArdEd J6€ vovd —

de

i

F&ﬁéém

Options :

r

L]l

M

|
=]

Question Number : 105 Question Id : 9168514799 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The necessary and sufficient condition for a scalar point function f to be

constant 1s
2% ©dTNoH ($Da%o ff@ot’: (©0cko sdwrll eddE Sovs Aohdo

Options :
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Question Number : 106 Question Id : 9168514800 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The directional derivative of f=uxy+yz+2x in the direction of the
vectors | + 3} +92k at the point (1, 2, 0) is
6% [ +2)+2k B3 (1,2, 0) Do S %0 f=xy+ys+ax T

?4 A
348 o
Options :

1/3

Question Number : 107 Question Id : 9168514801 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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3
The value of Hfi—’ildf where f(2)= 2;—;+21; and

f(3)=4i —2j +3k is

3y

f(2)= 2 -] +2k %Bat f(3)=4i -2] +3keond ||

s
\

ah

2

df
— |.dt=
&
Options :

8

Question Number : 108 Question Id : 9168514802 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
A surface r=f(u,v) is called smooth surface if f(u,v)is

2.8 00 r=f(u,v) & NSeo =58 f(u,v)
Options:

continous

DINo =
. @) wa’:&o ol
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possess partial derivatives
T odted e §HJS0 s2ad
L

continuous and possess partial derivatives
Y)Y TPD MO LY ©STeS Heezren JFYS0 7D

idempotent
©H8%880 Seaed

Question Number : 109 Question Id : 9168514803 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
By Stokes theorem, curl (grad ¢) =
%Eﬁj ?.ngoéo S0o& curl (grad ¢) =

Options:

1
1.

Question Number : 110 Question Id : 9168514804 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The area of the ellipse x =acos@, y=bsinf® where 0=6 <27 is
0<0 <27 ©ONHHE x=acosh, y=bsinf ©I 53 éﬁj@@@é@
Options :

: a+b

7(a +b)

ab

Tab

Question Number : 111 Question Id : 9168514805 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If. 5= ]'I 1 . 'In, eN % . then the number of upper bounds of S is
1/

—_ . h
o= -{lf’n EN}} ©ad 5 T¥) MDY FetHe Jogy
n |

w

Options :
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infinite

®H080

Question Number : 112 Question Id : 9168514806 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The integral part of e* is

egaﬁw;’:’:’; JPTR08 PNo
Options :

’I.4

Question Number : 113 Question Id : 9168514807 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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-

The supremum of the set § = | [ e

R |

T AN = N 158508 40 D08
n
Options :
1/2
1.
1
2.
3/2
3.
2
4, =

Question Number : 114 Question Id : 9168514808 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Theset S=(1, 2) |
S=(1,2) U 2,3 e

2,3)1sa

SE0E

ah ~

Options :
closed interval in B

R &° ¥ ;‘éo@,@ﬁoééo
1.
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open interval in R
R &° a8 dfsroddo

is not an interval in

; R & wod8d =oK%

connected subset of &

. R Foo¥), S0rlS GO

Question Number : 115 Question Id : 9168514809 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

IfS=(0, 1), then the closure of S is
S=(0, 1) wond S Gw¥) SoX)s

Options :

[0.1]
1,

(0,1]
2.

[0,1)

(0,1)
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Question Number : 116 Question Id : 9168514810 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

o

; x' -4 bl
If /:S—R where S =R -{2} defined by /(x) = — then Lim f(x) =
. .,1‘ T e

S=R-{2} oondsped o ($Joao f:S-R & 8 ¥ e R &,

8

Question Number : 117 Question Id : 9168514811 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

o
n+1 =
— =

1

lim
n—s0

Options:
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Question Number : 118 Question Id : 9168514812 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
1
1 :
The value of [ —dx is
ol+x

1—..1

1

I
[ —— dx @) Qen
0

Options :

2.
/4
3.
/2
4.

Question Number : 119 Question Id : 9168514813 Question Type : MCQ Display Question

AP EDCET 2020



AP EDCET 2020

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

72

The value of ( sin® x dx is
o

T2

.3
f sin’ x dx &11}5; Send

0

Options :

T

Question Number : 120 Question Id : 9168514814 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

| ; \
hm—(ea’w T L TRl } —
Options :
| .
o1}
1.
2.
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Question Number : 121 Question Id : 9168514815 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

zf2

The value of J xcosx dx is
0

xl2

i

[ xcosx dx @B Dend

L

0
Options :

w2
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Question Number : 122 Question Id : 9168514816 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Options:

@

Question Number : 123 Question Id : 9168514817 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Lim \ =g l | =

n—»x n

Options :

g 1
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c
2.
1
E
3.
 §
e
4.

Question Number : 124 Question Id : 9168514818 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The statement “every non-empty subset of positive integers has a least
member” is called

“B% ?”.gycogomwﬁ&& B (D6 é?é;éé & Saas o 5&%1 Sredo
£0t00d” ©F (IR & Aforr Levrrd

Options :
well — ordering principal

S5 (B Todo

prinicipal of mathematical induction

fatsclitnelativte :F;cfoo

completeness axiom
“{u-.-: £ AP":\_
) gnjwu&,éo
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Archimedian property
SHDED cﬁééo

Question Number : 125 Question Id : 9168514819 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The ratio in which the plane 2x — 3y + z = 5 divides the line segment
joining the points A (2,1, -1) and B(1, 3, 0) 18
A (2,1,-1) H0at B (1, 3, 0) dothiers 89% Sgppomed) 2u— 3y +2=5
oN $00 DFR0D D

[ 4
Options :

5:12 internally
5:12 0 ér;?e‘_ﬁorw
k

5:12 externally

1
=18 ma’&gorw

[ |

12:5 internally
12:5 @oégéom

[
| Q]

-5 externally

12:5 mﬁa’ﬁg__orﬁ

Question Number : 126 Question Id : 9168514820 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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o A’y

dy

The order of the differential equation 2y*——-3—=4y=01s
dx”  dx
‘ zdg}' o dy Mool B\ oL =il A
207 —= -3+ y =0 ©d%R J0sdno @) 08rRo
dx® x
Options :
2
1.
1
2.
0
3.
none
D6 =D
4,

Question Number : 127 Question Id : 9168514821 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The particular integral of (D’ -5D° +8D -4)y =€ is

Options :

o

xe*
2
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nomne

E'J"‘l
i
q

g\

Question Number : 128 Question Id : 9168514822 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The differential equation having the solution y =¢, +c,e’™ is
Y=g tee” BN P o 05503 860 30?

Options :

none

EJ'\
1900
q

38
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Question Number : 129 Question Id : 9168514823 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

: dy \
; : ¢ & Cy 2 .
Integrating factor for the equation U’+UET+2kY=i -1 is
x

(P D 12 =1 G skl Hukso

dx
Options :
B
xZ 41
1.
%2 5]
2.
o |
e +1
3.
none
D& =%
4.

Question Number : 130 Question Id : 9168514824 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The differential equation whose solution is y = A sin x + B cos x 1s

y=Asinx+ Bcosx P53 ™ o ©580:% &880

Options :
d*y
l:? -+ J,' = U
1.
d?y
N y=0
2. A
dy
—+y=0
dx
3.
none
D& =%
4,

Question Number : 131 Question Id : 9168514825 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A nonempty subset of natural numbers has
Qees Doy o &mﬁ; «ﬁ?ﬁ;e‘ﬁé & Jé &
Options :
least element

: ﬁﬁ@ SroXdn aotnod
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least and greatest elements

ﬁﬁa;:e ﬁ&a;l Sresrenolids

least or greatest elements need not exist

ﬁﬁa;p =R, ﬁ&a;lo =0 aoc‘ﬁﬁééétﬁa

3,
none
. DE =%

Question Number : 132 Question Id : 9168514826 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Sup {xeR|0<x <1}
" SRR, SO -
xeR|0<x <1y 35oa8 B DS ?’-J“CSLLH;

Options:

1

12 | —

does not exist

S0 =
oG

3.
none
. DE =%
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Question Number : 133 Question Id : 9168514827 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

H
+ 1

Limit point of 1 z IneZ” %

| n .
Ins1l" €7 [ 52088 056 Dot

Options :

Zero

fﬁ?zég__o

b2 | —

Question Number : 134 Question Id : 9168514828 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
f(x) :M 1s continuous at x =0
f@) = ghabso ¥ =058 eDO50
@ )

Options :
AP EDCET 2020
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ves

may or may not be

St Gl Tﬁﬁﬁéﬁa

3.
none
DHE =%
4.

Question Number : 135 Question Id : 9168514829 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

= |
f(x) = on (0, 1) is

i 1
Jf(x) - (0, 1) £
Options :
uniformly continuous

NBEED ©QINY0
1. )

continuous and differentiable

©DF)o HodcHo o350
2. G
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discontinuous

5'.‘1-‘:1‘:\?6:10
T

nomne

Ej‘i
500
9

2y

Question Number : 136 Question Id : 9168514830 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The number of generators of an infinite cyelic group is
oS08 JEaD DS EL A 2358 Dwrestenotron?

Options :

Question Number : 137 Question Id : 9168514831 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The order of — 1 in the multiplicative group{ -1,1,i, -1} 1s
1esid deededn { -1, 1,4, —i} &° — 1 Q%) $6r1®
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Options :

Question Number : 138 Question Id : 9168514832 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Homomorphic image of an integral domain is

2.8 JFrorod @’ﬁé&n »:E::oﬁ; DB (Dédowo

Options :
ring

: Secdo

integral domain

, Froeol (HRdo

need not be integral domain

Frpol (HBE50 TREBBE
3.

AP EDCET 2020



AP EDCET 2020

nomne

EFJ"‘I
914
o

&

Question Number : 139 Question Id : 9168514833 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If . are two vectors of an inner product space such that

‘{ffﬁt)‘:HﬂH |8]. Then . are

wodtozFosTEos a.f eo Both SB4D (.8) =[] [B] ecx o.p
ALY
Options :

linearly dependent

DBE erds0

linearly independent

QOF Jg@o(go

orthonormal

oo osTen

orthogonal

LOTFED

Question Number : 140 Question Id : 9168514834 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If R 1s a non-zero ring with a” =a for every a e R, then characteristic

of R1is
R 2% éﬁﬁaéc’: Socho o @ =a 7 aeR wavd R Ssfoeictn
Options :

. 0

prime number

\ DTS Dogy;

Question Number : 141 Question Id : 9168514835 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The rank of an n x n unit matrix is

X 1 g5reRES e(@F B B

Options:

1. 1n

n—1
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Question Number : 142 Question Id : 9168514836 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The integrating factor of X%y dx — (x*+ %) dy =0 is

2y dx — (2% + %) dy = 0 Bo) 3&e8ed Heedsdn

Options :
|
.1.4
1.
J‘d'
2.
1
3,
-1
.TE 1 *
4. '

Question Number : 143 Question Id : 9168514837 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The points (5, 2, 4), (6, -1, 2) and (8, -7, k) are collinear if k is equal to
(5,2, 4), (6, -1, 2) $H8c B, -7, k) oI Hokhen $ohatrer wowd,
k Go¥) Henid
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Options :

2

Question Number : 144 Question Id : 9168514838 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The foot of the perpendicular from (e.5.7) on Y - axis 1s

(0, B.7 ) 03 Dotdh o0& Y - e S wowartin od Hoth

Options :

(. 0.0)
1.
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Question Number : 145 Question Id : 9168514839 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
The points (0, 1, 2), (2, —1, 3), and (1,—3, 1) are
(0,1,2),(2,-1, 3) &850 (1,-3, 1) ©3 DosHen

Options :

Collinear

-

B0 Smen

vertices of right angle triangle

©0onE s (BEHasn ovvricy] %D:lw

vertices of an equilateral triangle

[0 250 @gbes %Dglw

vertices of right angled 1sosceles tinangle

2 er = 5
©0o Ser Soeriro (Sedes loplay

Question Number : 146 Question Id : 9168514840 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
-1
In a group G, for any q.bG, (ab) =
- == - i -1
SSrrsw G & 980 a.beG, (ab) =

Options :

1
ab
1.
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none

EJ'\
fin
4

£

Question Number : 147 Question Id : 9168514841 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The set of all permutations on 3 syvmbols is
Soeth Sreste (Dardsn Ty, SHd

Options :
a group of order 3

3 5 SB1& JoeED

Abelian group

rl

F ReNAD DaTeeFan

non-Abelian group order 6
6 5 S8K8 DADAD JBoTSm0 =otd

3.
nione
. 6 ==
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Question Number : 148 Question Id : 9168514842 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

1 2 3 4 56 7 8 9 .
13
| DA L

Options :

EVEI

Question Number : 149 Question Id : 9168514843 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The product of two odd permutations is
Sok T (Pardsoe O
Options :

odd permutation

1 32 (R8s

even permutation

58 (SaesEm

both odd and even
29, X8 o

nomne

£
Fin
49

2

Question Number : 150 Question Id : 9168514844 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

IfA={1,2,3} and B=1{4, 5}, then which of the following 1s not a member
of A xB

A={1,2,3} 200 B={4, 5} ocnd & 8o 06* A xB&* Sressn 20
Options:

(1, 4)
1,
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